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N = 0 &8 AF S & Al A
20113 204 LESIH BHZAIDY ~ BHSS Al
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ZHE Al 20,280,450 14,730,631 5,549,819
= 2,486,560
z 1,674,000
=2 109,984
< 2,780,100
= 13,229,806
HE2AHU (EHMZ AL 31,803 35,754 A3,951
Jledl 31,803 31,554 249
Jl2&dl 31,803 31,554 249
201 et AH| 21,003 19,554 1,449
01 AF222|H] 18,741 17,394 1,347
Ogbt424] 14,331
0.JI2AIREEFY 70,000 210! 1,470
0.AFR2I10] & SAES 12,285,000 12,285
ORIEREE 48,0002 x 122 576
(@OF=2=1s] 210,000& *21¢0l 4,410
02 B222gH4| 2,262 2,160 102
Oz322=2 ¢ HMA 2,142
0.2BRZ 102,0002 = 21¢! 2,142
OAIEEHIS X 120
0.Y4&2J| &5 & £ 120,000& 120
202 OiH| 10,800 12,000 A1,200
01 2o Y| 10,800 12,000 A 1,200
Ot (ss3Hl)
180,000& = 5EE * 12& 10,800
HHXIXN2H(E M AID) 4,200 0 4,200
BENEI2A 4,200 0 4,200
ol 2HAH| 4,200 0 4,200
203 HR=XH| 4,200 0 4,200
04 EANRIGE LA 4,200 0 4,200
O BENSELRFA 350,000& x12& 4,200
NEEH 435 405,385 199,340 206,045
=2 50,000
< 28,740
= 326,645
NS ZHEAS 400,585 196,740 203,845
= 50,000
< 25,940
iy 324,645
NEEH 2435 =& 185,890 44,980 140,910
201 et AH| 6,430 14,450 28,020
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SNBSS - MBAY - BES 0 & 24 e {imE=Eh
01 AtS22iHl 6,430 14,450 A8,020
Ogt=2H| 3,000
0.CQIAHIXILSE WA QI
10,0003 »50H 43| 2,000
0.3A4UZNLE SE8 oM
1,000 *1,0000H 1,000
(@F=3={| 3,430
0.XASEH g2=4 7,000& 72170 3,430
202 Oddl 12,960 14,280 A 1,320
01 WY 12,960 14,280 A 1,320
OJl=2dR==d0dbl 180,000& = 6¢! » 128 12,960
203 HRF4Hl 2,500 2,000 500
03 A MZ=XHSEFEH| 2,500 2,000 500
OXgZMELst=a 2,500,000& 2,500
301 et a= 4,000 4,250 2250
10 HALAHIE &= 4,000 4,000 0
O2Z X etits SHEAL &4
20,000& 15021 3,000
OXNE3negds =8 253 4
20,0003 #2501+23] 1,000
308 KNHXISHHMSOIE 160,000 10,000 150,000
08 JIEtRE=2 160,000 10,000 150,000
OSLIISEHER MY SIS HAY (RIS
SOE) 10,000, 000& 10,000
OMFINEESE 88 NIIsEMsS NEHD
MM (HEHE W) 100,000, 000 100,000
OISO NALEHMEINE XATHAAEE
A (4339 A Y E5H) 50,000,000& 50,000
FAEIMUE 1,880 1,760 120
S 940
= 940
201 LEH2HH| 1,880 1,760 120
< 940
= 940
01 At 22ibl 1,880 1,760 120
BAEINUE 2AMAE E WY
1,880,000& 1,880
S 940
= 940
SMAGtLOISU=HEE T L 112,815 150,000 A37,185
401 Al&HI LSO 112,815 150,000 N37,185
01 Al&HI 112,008 148,920 A 36,912
OsAot2is=HEE X 112,008




A BHEAILL
M. KAAN BHE

Sl XA ARIE S5 (e @8
_ _ HE T
SN EB -GS - MBAY - BES 0l & 2 il ot o {imE=Eh
0.2MOI YOS MBI H T AH(1436M )
1,436 38,0002 54,568
0.2NOIYUSUHSHEYILTA BHYLX|
2 4| 1,436 x40, 0002 57,440
03 Al&=OHH] 807 1,080 ~273
OSMBL0IS GRHBE X4
112,000,00021 00072 807
SFEXR MAH0I2 R 100,000 0 100,000
= 50,000
= 25,000
2 25,000
401 AEHI LS 100,000 0 100,000
= 50,000
= 25,000
2 25,000
01 Al&l 100,000 0 100,000
OYE SEXA MAMOIZH AAI(R2)
100,000,0002 100,000
= 50,000
= 25,000
2 25,000
HETOUANYSH 2,400 2,600 A200
= 400
2 2,000
DOENLHZ XS 2,400 2,600 A200
= 400
2 2,000
402 Q12X 0|H 2,400 2,600 A200
= 400
2 2,000
01 QIARERE 2,400 2,600 A200
OBUBHEZ(144) 2,400,000& 2,400
= 400
2 2,000
AU 2 2ot 2,400 0 2,400
= 2,400
T 2NSUHRASY 2,400 0 2,400
= 2,400
101 Q1248 2,400 0 2,400
= 2,400
04 JARZRIIS S 2,400 0 2,400
SEIZLIE SR o1yl
200,0002 * 122 19l 2,400
= 2,400
MUK oFF & B3 Ha 5,611,945 1,592,950 4,018,995
= 2,159,600
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HE: LR o L B2 KA
ol OlUTIZEl U 2IoHE (el &
_ _ _ Muo
SN -HH - SA(B) - MRAY - BES 0f Ao Sl e HRE2
= 1,218,880
i 2,233,465
ol Xi2tel & Soterd 112,745 15,750 96,995
= 32,000
= 80,745
WLX 2 2Jtel 12,745 15,750 A3,005
201 Let2d| 4,245 6,100 A 1,855
01 AtE22|Hl 4,120 5,850 21,730
HIEE==1H 3,000
0.49F BRAA +48
2,000 *40J0H 2~ %10 4 *23| 1,600
0.8995 ZAN HHE 2
1,0002 %10 ¢ *407H 400
0.0ILIX Y 2otEe EES oY
2503 25 +5000H 250
0.1 QYM AEIH HMZE 300&+5Z+5000H 750
O2g+g 1,120
0.2l NSRS Mg
70,0003 *1621 %13l 1,120
02 2224l 125 250 A125
OZ2R3 2 HAl 125
0.0ILIKZ OHHS LESE 2502 #5004 125
203 HRF&HI 1,500 2,000 A500
03 AHEFIHRFAH| 1,500 2,000 A500
ONUXIES & SJtate| AIMEZ
1,500,000& 1,500
301 Ypt8aag 7,000 7,000 0
10 EALAHIEA S 1,000 1,000 0
OOILIX Mot o SI1oHS Aol & A
20,0003 5021+ 13l 1,000
12 JIEt2 4= 6,000 6,000 0
OSINTUHS R AH|DAa
250,000& »201x12& 6,000
ORI Al I & ALY 60,000 0 60,000
= 12,000
= 48,000
401 AEHIL20HHI 60,000 0 60,000
= 12,000
i 48,000
01 Al&H| 60,000 0 60,000
OMASE NAAE WAL
200,000& = 15000 & 30,000
= 6,000
s 24,000
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OMASZE MIIANE HAAMY

100,000& = 30074 £ 30,000
6,000
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HII0IEX 22 A 40,000 0 40,000

20,000
20,000
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405 AHoHESHI 40,000 0 40,000

20,000
20,000
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=7 =S4l 40,000 0 40,000
O&II0IER 22 40,000,000& 40,000

20,000
20,000

Mok

U X 22AH 5,499,200 1,477,000 4,022,200
2,159,600
1,186,880
2,152,720
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550,100
165,030
385,070
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550,100
165,030
385,070
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01 A&l 1,096,239 0 1,096,239
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1,096,239,000& 1,096,239

546,139
165,030
385,070
03 A2 R04Hl 3,961 0 3,961
OZ2E EHLSES M FHYI
1,100,200,000& 0. 36% 3,961

3,961

W

H

JeE 1002ts EaSAtE 120,000 111,000 9,000
60,000
60,000

U
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60,000
60,000
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120,000 111,000 9,000

=
=
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_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES (il & OH Ofl At ot HwsZ
ZH&e sMOtSZEAMY 1,000,000 700,000 300,000
= 500,000
> 500,000
402 QI+ XHE0IA 1,000,000 700,000 300,000
[ 500,000
= 500,000
01 RI2t=E X 1,000,000 700,000 300,000
OLdel sAOr XA 1,000,000,0002 1,000,000
[ 500,000
= 500,000
SEYEHRNEZLAS 200,000 0 200,000
401 A &HIL 2048 200,000 0 200,000
01 Al&d 200,000 0 200,000
Ol =2 XAt A 200,000
0.38 LI I AL Y]
200,000, 0004 200,000
SESTENMHLZLEALS 359,000 0 359,000
= 179,500
[ 53,850
= 125,650
401 A& HI2 S 359,000 0 359,000
= 179,500
[ 53,850
= 125,650
01 Al&dl 356,415 0 356,415
O HEH L2 & X AL (50KW) 356,415,000 356,415
= 176,915
= 53,850
> 125,650
03 A& 2,585 0 2,585
OZHEHLEE XA RUYI
359,000,0008 * 0.72% 2,585
= 2,585
LAY MALY 2,370,000 0 2,370,000
= 1,185,000
[ 355,500
= 829,500
401 A& HI2 S 2,370,000 0 2,370,000
= 1,185,000
[ 355,500
= 829,500
01 Al&dl 2,361,468 0 2,361,468
O Jlg2 & 2AIEZ A
2,370,000,000& * 1.32% 31,284
= 31,284
O A4ABANLIALY 2,330, 184,000¢! 2,330, 184
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SRl X 2SS ALY (e E2
- _ _ HNE
SH-EFHHA(FA) - NIRAE - BES 01l A+oH @;OH Hws2
= 1,145,184
& 355,500
= 829,500
03 Al&Z20ibl 8,532 0 8,532
O AN SEIAIY 20U
2,370,000,000& =* 0.36% 8,532
= 8,532
UNRS=10; N DN -SRI g sl 350,000 0 350,000
= 245,000
T 52,500
[ 52,500
401 AIEHIZ 20 350,000 0 350,000
= 245,000
& 52,500
= 52,500
01 Al&HI 347,480 0 347,480
OLEDIIZ2 S WM S At 347,480,000 347,480
= 242,480
& 52,500
= 52,500
03 Al&Z20ibl 2,520 0 2,520
OLEDIIZ S W HI S A2 THHI
350,000, 000& *0.72% 2,520
= 2,520
HdEANZF2IG 2 2,821,573 536,750 2,284,823
& 1,674,000
= 1,147,573
dEANFT2E2FE 2,821,573 536,750 2,284,823
= 1,674,000
= 1,147,573
HSAER A2 30,573 35,750 VAN Va4
101 Ql244| 2,793 3,300 2507
04 JI2ZtHIZZXSEE = 2,793 3,300 A507
ONSANF-EAHS o2
34,9102 x121x80 2,793
201 et29H| 3,180 7,850 24,670
02 232ZH| 3,180 7,850 AN4,670
O332= < AMA 940
0.AIZ3EA HIIAEZ
8,700& 9 A~ *12& 940
OAl & &I XYl 2,240
0.MSANERXE> 200,000 *7IH A 1,400
0.ANEEY RRE=> 120,000 *7JH 2 840
Ut A= 24,600 24,600 0
JIEt2 &= 24,600 24,600 0
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0.t Al E 450,000& =123 5,400
0.d4=, 3N, G4 HAAE
400,000 40 2+12& 19,200
HENTEHES 1,000 1,000 0
301 Let2a= 1,000 1,000 0
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&) 10,0002 * 100Q1%12 1,000
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= 1,150,000
= 766,000
401 AlEHIZ R0 1,916,000 0 1,916,000
= 1,150,000
= 766,000
01 Al£HI 1,909, 102 0 1,909, 102
OdZ=AIEEHIAE 1,909, 102,000& 1,909, 102
& 1,143,102
= 766,000
03 A2 204bl 6,898 0 6,898
OMEAIZZUIAMY 20bI
1,916,000,000& *0. 36% 6,898
= 6,898
SHHAE EZHIALS 874,000 0 874,000
= 524,000
= 350,000
401 AIEHIZL 20U 874,000 0 874,000
& 524,000
= 350,000
01 Al&HI 868,493 0 868,493
OHAANE JUZEH & F=ScI2LE AL
868,493,000 868,493
= 518,493
= 350,000
03 A2 R04bl 5,507 0 5,507
OHAANE JUYZHH & F=Sc|I2LEAMNY 7
CH ol 874,000,000& *0.63% 5,507
= 5,507
nE =M 2 oy, 224 SASH 554,584 889,020 N334,436
= 112,000
= 109,984
S 44,500
= 288, 100
HaA=s AU 244,600 28,000 216,600
= 112,000
= 44,500
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33,600
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112,000
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O NSESSH LXtelArd 224.,000,000& 224,000
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2 200,000
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200,000, 0002 0.0063 1,260
SRHRIIIY QMES 100,000 0 100,000
401 AlHIL 2 O] 100,000 0 100,000
01 Al&H] 99,280 0 99,280
O SXSXMEI ST &AL
49,640, 0002 x27H 2 99,280
03 Al& S CH| 720 0 720
O SXSXIQIHEISTIE AL LY
100,000, 0002 %0.0072 720
SRNRX NS 13,930 22,920 8,990
201 LByl 8,930 10,300 A1,370
01 Attt 5,680 7,050 A1,370
ogsr+gH| 4,000
0.SXRX 22 M 4,000,008 * 15 4,000
o2g+y 1,680
0.SXNSIAVEA  70,00021%120123] 1,680
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02222 2 MM 1,250
0.SXNSX E2S L& W
25021 %5, 0000H 1,250
03 EAI2 Y] 2,000 2,000 0
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1,000,008 x23] 2,000
202 048] 3,000 9,120 £6,120
01 2Uioibl 3,000 9,120 26,120
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100,0002 *321 %103 3,000
203 YREZY| 1,000 1,000 0
03 AlZ =T =Y 1,000 1,000 0
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O=2d 2 & EXNmA d4H3&S
50,000& 1021 x23] 1,000
FAAE 2 =HEZ MM 2,082,574 952,378 1,130, 196
= 64,960
& 487,980
= 1,529,634
SHE F=HSE A 2,082,574 952,378 1,130,196
= 64,960
& 487,980
7 i 1,529,634
HIHQ A=HH MUHIANS 17,478 142,378 A 124,900
101 14| 1,720 858 862
04 JIZHMIZ2XEE =+ 1,720 858 862
OXtslotE232 sAl2el2A(0FDeIf2Y)
80,000& »321x6 1,440
OXolli23d A (Heled)
34,9103 »121+8L 280
201 LetHH| 4,058 6,400 AT,442
01 AtER22/Hl 4,250 4,600 A 350
Oget=gH| 800
0.AZAR J=FE ATIHIE
120,000& *5& 600
0.AF47 et (8 CXeXE)
200,000& 200
O=&l 7,000& 501 x50 1,750
SEERSE 1,700
0.0=RA2g &4 50,000& 102! %23 1,000
0.2 YOI PIRBI B A 2T
50,000& »721%23] 700
02 2323l 708 1,800 A1,092
OZ=R2 2 WA 708
0.Xtoll & &IEDIS MIIR= 59,0008 12 708
202 O4Hl 10,800 6,120 4,680
01 =LA bl 10,800 6,120 4,680
OJl=gf=30tl 180, 000& x5+ 12& 10,800
BIEEH ALY 461,000 110,000 351,000
& 230,500
= 230,500
402 QIEHE0IM 461,000 110,000 351,000
= 230,500

_11_




SN BHEAID
BE: FHOE o FABYNM

©Hol S01E FHEINA (crel @
_ _ _ Muo
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= 230,500
01 IAXELE 461,000 110,000 351,000
ORI BHIAY (ZUO0IEXNE)
5,000, 0002 +795 395,000
= 190,500
= 204,500
OBIIHHIAIZ(DIEIXIZ) 1,500,000 <445 66,000
= 40,000
= 26,000
NENY XA 450,000 500,000 50,000
= 225,000
= 225,000
402 BIZEXHEO0IH 450,000 500,000 50,000
= 225,000
= 225,000
01 QIAXEEE 450,000 500,000 50,000
OZHOIEASS NSMHBAY  450,000,0002 450,000
= 225,000
= 225,000
HEFUTHYOIMERX 729,676 200,000 529,676
401 AlSHIL2OHY] 729,676 200,000 529,676
01 A& 724,636 198,560 526,076
OFAZE J|PAIL ALY 198,560, 0002 198,560
O2013UAZHY| OIIIERXUZX BEARE
X e 496,400,000 496,400
O OHIERXNEX SSAIE HHZS Al
29,676,00084 29,676
03 Al&SCHHI 5,040 1,440 3,600
OFBAFEI|BHAI LAY 1Y
200,000,000% * 0.0072 1,440
O2013AAZHY| OIHERXNFX REALARE
X OHHI SCHHI  500,000,0002!%0.72/100 3,600
MBIFHAHS FEHE ALY 72,000 0 72,000
403 KHXISHHISAHE O 72,000 0 72,000
02 2JI2HS 0HlCH S CH 3 AL 23 bl 72,000 0 72,000
OAMSIFHANS FEDHBLAY 72,000,008 72,000
2013 A OHHI F S UIAYS 222,500 0 222,500
401 AlEHIL 2O 222,500 0 222,500
01 A& 220,898 0 220,898
O 2013MAZLHH FEFHI ALY 220,898
0. 20132 AI[HH| T HHIAIY (SAO0IEXNS
) 198,560, 000! 198,560
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Sl S0E FHSBHM (S5l &2
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SN EB -GS - MBAY - BES 0 & 24 e HRE2
03 Al&=CH| 1,602 0 1,602
O 2013 AT CHHI FLFHIAY 4|
222,500, 0002 *0.0072 1,602
S 0IE MK Al 129,920 0 129,920
= 64,960
= 32,480
2 32,480
402 DIZHRHROIH 129,920 0 129,920
= 64,960
= 32,480
2 32,480
01 pIZTEEE 129,920 0 129,920
OLHO0IE MK Al AL
2,240,0002 *585 129,920
= 64,960
= 32,480
2 32,480
NEP ERE 1,224,590 1,005,950 218,640
= 100,000
2 1,124,590
A RIA 915,000 900,000 15,000
MEOAMIROIZ 2SR IHA 200,000 0 200,000
401 Al4HIL 2 O] 200,000 0 200,000
01 Al&H] 198,560 0 198,560
O MEOMIPOISAYE 244 (L=126 B=6.0)
198,560,002 198,560
03 Al& S CH| 1,440 0 1,440
O MEOMIPOISASET2HEZ A 24|
200,000, 0002 0.0072 1,440
MHESHDABC RIS 200,000 0 200,000
401 Al&HIL 20| 200,000 0 200,000
01 Al&H] 198,560 0 198,560
ONEESSDY AYT2 & (=150, B=6.0)
198,560,000 198,560
03 Al& S CH| 1,440 0 1,440
Ol 200,000, 0002 0.0072 1,440
NEEANBRAZDY PAAL TR 100,000 0 100,000
401 AlAHIL 20| 100,000 0 100,000
01 Al&H] 99,280 0 99,280
OUEEHBESNY ALY 2N
99,280, 0002 99,280
03 Al& S H| 720 0 720
Oyl 100,000, 00024 *0.72/100 720
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SENSAUTRIHA 265,000 0 265,000
401 AIEHIL L] 265,000 0 265,000
01 Al 263,092 0 263,002
OHENS AYCRIA 263,092,00024 263,002
03 Al& S CHY| 1,908 0 1,908
O H&ENIS ART2WEZA 20Hb]
265,000, 0002 *0.0072 1,908
AR E BRI (UPIS) B A AN 100,000 0 100,000
207 ATl 100,000 0 100,000
01 HRgey| 100,000 0 100,000
O SAFESHIH(UPIS) ATEN L BH(1A
) 100,000,0002! 100,000
MEANOISALTR2HEBA 50,000 0 50,000
401 AIEHILL ] 50,000 0 50,000
01 Al 49,550 0 49,550
OMEAIOIS AR S 2I)EZ AHL=60, B=4.5)
49,550, 0002 49,550
03 Al&=CHHl 450 0 450
OMZEAXIOISART RSB A SO
50,000,0002 x0.90/100 450
NEPER=TESS 24,590 26,950 A2,360
Nesgeey 24,590 26,950 A2,360
201 Yer2g| 5,950 6, 150 A200
01 ALR 22/t 5,950 6, 150 A200
o2g+g 4,200
0.2 HEAS Hasg
70,0002 #1521 +43] 4,200
O3 7,0002 *521 4502 1,750
202 01l 8,640 10,200 A1,560
01 =UH01 ] 8,640 10,200 A1,560
Ol 248014l 180, 0002 401 * 122 8,640
308 XHXI IS 0 & 10,000 10,000 0
08 JIEtREZ 0,000 10,000 0
OIS D DESAHE AL (4 )
10,000,000 10,000
e =L 285,000 79,000 206,000
=2 100,000
2 185,000
zns2Y 85,000 79,000 6,000
401 AIEHIL L] 85,000 79,000 6,000
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SHT ZHMEAD
=L R EPEET]
ol 2nene

_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot HwsZ
01 Al&H] 85,000 79,000 6,000
OXEZIE &I (54) 20,000,000 20,000
OXIEAAMN X (5BIHA) 50,000,000& 50,000
OSYIHZISHHIAY 15,000,0002! 15,000
S AICIRtR! 200,000 0 200,000
= 100,000
> 100,000
401 Al&HIYL 2T 200,000 0 200,000
= 100,000
= 100,000
01 Al&t| 200,000 0 200,000
OetY T Al SHE3CIX2 N AL 200,000
0 steH2l =& (34, L=3.5km)
100,000, 000& 100,000
= 50,000
= 50,000
0 &% (590 4) 100,000, 0004 100,000
= 50,000
2 50,000
SAIRE 3,771,191 3,102,119 669,072
[ 1,000,000
= 2,771,191
XEIbsst CAIDIBIES 2,571,191 2,962,119 390,928
[ 1,000,000
= 1,571,191
SAIRAZY FH 100,000 70,000 30,000
401 A& HI 2SI 100,000 70,000 30,000
01 Al&H] 99,280 70,000 29,280
OZAIS2(=HH, stOt8)ANEE B £ 2
& 99,280,000 99,280
03 Al& L 720 0 720
OZAIS2(=HH, stitS)AMEE B £ 2
4 100,000, 0002 %0.72/100 720
CAHE 20 200,000 1,566, 149 1,366,149
401 A& HI 2SI 200,000 1,566, 149 1,366,149
01 Al&H] 198,560 1,553,391 1,354,831
O HEZAHEZZ(ER 1-45)2HE2E X (
L=300m, B=6m) 198,560, 00024 198,560
03 Al& S 1,440 12,758 A 11,318
O HEEANAHEEZ 2EHNEZ2 S AL 20|
200,000, 0002 %0.72/100 1,440
SANAHEANE R E = 200,000 130,000 70,000
401 A &HIL 2048 200,000 130,000 70,000
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A B A
M T AR

el KSotset TADIE Y

_ _ _ Muo
SN H - SR(EH) - NPAMY - BES 0 &4 o e HlE2
01 A&l 198,560 130,000 68,560
ORETM(S, 2A,AIE, S, alo)
49,640,000 49,640
OLZANEESES(S,3M AIE &4, 40
49,640,000& 49,640
OANIX E2RXNES (S, M AIHE, EHA, A0k
) 49,640,000& 49,640
OEANNZE RANE=(S,3H AIH &4 Aot
) 49,640,000& 49,640
03 AIE=20bl 1,440 0 1,440
OFAANANLRTRHAL 20
200,000, 000& *0.0072 1,440
HOI0IEE S AIHE A EEHI 100,000 50,000 50,000
401 Al&HIZL=RCHYI 100,000 50,000 50,000
01 Al&HI 100,000 50,000 50,000
ORXML (S, 3H AIF, B, 80k 2 FY
100,000, 000& 100,000
SANEHRFA 21,191 25,970 N4TT9
101 1A 3,491 3,960 A469
04 JIZHMIZ2XEE 3,491 3,960 A469
OZAMAHE RS AIJIXIEE 212
34,910& 500 A +20 3,491
201 LEH2HH| 14,100 15,890 A1,790
01 AtE22/Hl 2,100 4,050 A 1,950
O=&l 7,000& 3211002 2,100
02 2323l 12,000 11,840 160
0OZZR3 2 HHZ3 12,000
0.8t0tSZ2& &Iz 200,000 «12& 2,400
0.8t0t53& =&k& 200,000& «12& 2,400
0.Z2SUS& &IIE 200,000& «12& 2,400
0.¢=H3& 2453 &Il 200,000& 122 2,400
0.3X1D==82X &Iz 200,000& 128 2,400
202 O4dl 3,600 6,120 N2,520
01 SUHHYI 3,600 6,120 22,520
OJl2g =0 100,000& x321+12& 3,600
SAAHE RGN 2EEEY 450,000 320,000 130,000
401 Al&HI LS04I 450,000 320,000 130,000
01 Al&H| 446,760 317,696 129,064
Odz=H TAHEEZE EEFHI(L=800m)
148,920,000 148,920
OMSAMX E& ¢ U2 & HI(L=600m)
297,840,000& 297,840
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SN

Z M Al

I T ADHE
SRl XBIHsSE TAIDIEHES (&te @2
i} _ _ bolEN=
2N -3 - c2(3H) - NEME - HES A oH @;OH Hl =2
03 Al&=2CHHI 3,240 2,304 936
OZANREUBZHH AIS 2O
450,000,000 *0.72/100 3,240
CAHECZ D22 HY| 500,000 0 500,000
401 Al&HI LS 500,000 0 500,000
01 Al&H] 496,400 0 496,400
O &HE=23I2 23 Jp2e Hy|
297,840,000 297,840
O &me TAOIZ2HY 99,280,000 99,280
O SHob3 2t T A0 2 E 99,280,000 99,280
03 Al&220HHl 3,600 0 3,600
O JI222 A 204Hl 500,000,000 %0.72/100 3,600
AHECE=H ZTAIHECSR2HNA 1,000,000 0 1,000,000
[= 1,000,000
401 Al&HI LS 1,000,000 0 1,000,000
[= 1,000,000
01 Al&H] 1,000,000 0 1,000,000
OLHE ICE=H S AIHE S 2014 Z AHL=1000m)
1,000,000,000& 1,000,000
[~ 1,000,000
SADIBEA =X 100,000 140,000 40,000
FHAXTR ANEESXES 100,000 60,000 40,000
401 Al&H| L LCHY| 100,000 60,000 40,000
01 Al&H] 99,100 60,000 39,100
OXEEZM(ME 2 M, S8 X8 AES)
49,550,000 49,550
OEZANESES (M, 2AH .84 XIHE AE)
49,550,000 49,550
03 Al&=20HH| 900 0 900
OFSXNT MESSXNEBLEAY RO
100,000, 0002 0. 0090 900
CAHEE2ML ,100,000 0 1,100,000
AOIZAIHE S 2(2-775 )& R 2 A 700,000 0 700,000
401 AlEHI LY 700,000 0 700,000
01 Al&H] 695,590 0 695,590
O MOIZAIHEC2(2-778 , =S8 W )& E
Z A 695,590
0. MOIZAIHE T2 (2-775 )& & 2 A}
298,110,000 298, 110
0. AOIZAIHE SR (2-7T7E8)E XA 24
97,480,000 397,480
03 Al&=20HHI 4,410 0 4,410
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A ZHZAlD
I S ADNY

R TAHEEZE (el =@
_ _ HE T
SN CR(EH) - NRAY - BES 0 &4 o il ot o HZ2
O T AIHE 2 (2-773 )& & S A2 U]
700,000,000& *0.63/100 4,410
NEZAHEEZ (AE2-43, 2-315 )& 3 At 400,000 0 400,000
401 Al HI LS OHHI 400,000 0 400,000
01 Al&HI 397,120 0 397,120
O NMEZAHEEZ2(222-43,2-315 )& S A 397,120
0. NEZAIHEEZ(L222-43,2-315) &3
At 337,552,000& 337,552
0. AEZAAHNEEZ2(L222-43,2-315) &3
At S 4| 59,568,000& 59,568
03 A&Z20HYI 2,880 0 2,880
O NMEZAHEEZ2(222-43,2-315 ) HE S A
SOyl 400,000,000& *0.0072 2,880
Hests(BHEZ AR 3,458,675 6,223,450 N2,764,775
LHEHHXI & ,458,675 6,223,450 N2,764,775
SAJEsHIIs A= 257,208 400,000 N142,792
701 JIEtRI AN ES 257,208 400,000 A142,792
01 JIEtRI HEE= 257,208 400,000 N142,792
Os2Jg sSdII==2ESLINH dES
257,208,000& 257,208
sEHATEMLEES 101,467 63,450 38,017
701 JIEtRI AN ES 101,467 63,450 38,017
01 JIEtI AN E= 101,467 63,450 38,017
Os3HINEdEEIHEE 101,467,000& 101,467
SANLAE SE3HA= 3,100,000 5,760,000 2,660,000
701 JIEtRI AN ES 3,100,000 5,760,000 22,660,000
01 JIEtRI A E= 3,100,000 5,760,000 22,660,000
OSEHLANY S HE
3,100,000,000& 3,100,000
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